Lie Symmetries and Classifications of (2 + 1)-dimensional Generalized Gardner Equation with Damping Term

S. Rajeswari¹ and S. Padmasekaran²

Department of Mathematics, Periyar University, Salem, Tamil Nadu, India - 636 011. e-mail : ¹rajeswarisab@gmail.com, ²padmasekarans@yahoo.co.in

Abstract

In this paper, We are consider a (2+1)-dimensional generalized Gardner equation with damping term is subjected to the Lie symmetry group method. Classification of its symmetry algebra into one- and two-dimensional subalgebras is carried out in order to facilitate its reduction systematically to (1+1)-dimensional partial differential equations and then to first order ordinary differential equations.

Keywords: Nonlinear PDE, Lie's Classical Method, Lie's Algebra, and Symmetry group. **AMS Code:** 35G20, 78J70.

Introduction

Basically, the KdV equation with dual-power law with non-linearity is the Gardner equation.

$$u_t + pu_x + quu_x + ru^2 u_x + su_{xxx} = 0, (1)$$

where p, q, r and s are arbitrary non-zero constants. Krishnan et al. [?, ?] have studied the dynamics of solitary waves governed by this equation. They used the mapping method to carry out the integration of the equation and studied the perturbed Gardner equation, from which the fixed point of the soliton width was obtained and also carried out the integration of the perturbed Gardner equation with the aid of He's [?] semi-inverse variational principle. Johnpillai et al. [?] have shown that the Benjamin-Bona-Mahoney (BBM) equation with power law non-linearity can be transformed by a point transformation to the combined KdV-mKdV equation, which is also known as the Gardner equation,

$$u_t + auu_x + bu^2 u_x + u_{xxx} = 0, (2)$$

where a and b are arbitrary non-zero constants. After that, they have studied the combined KdV-mKdV equation from the Lie group-theory. The generators of the combined KdV-mKdV equation were derived the symmetry reductions by Lie point symmetry. Also, by the Lie point symmetries of the equations were obtained from a number of exact group-invariant

http://xisdxjxsu.asia

solutions for that equation. Some of the results are especially interested in physical and mathematical sciences.

In this paper, we consider the (2 + 1)- dimensional generalized Gardner equation with damping term,

$$u_t + (2\delta u - 3\sigma u^2)u_x + u_{xxx} + u_{yy} + u = 0.$$
 (3)

Thus, we investigate the symmetries and reductions of (??).

We showed that the (??), admits a symmetry group and determine the corresponding Lie algebras, then classifies the one- and two- dimensional subalgebras of the symmetry algebras of (??), in order to reduce (1+1)-dimensional partial differential equations and then to ordinary differential equations. We establish that the symmetry generators form a closed Lie algebra and this allowed us to successively reduce (??) to (1+1)-dimensional partial differential equation and ordinary differential equation with the help of two dimensional abelian and solvable non-abelian subalgebras.

Lie Symmetry Group and Lie Algebra of (2+1)-dim Generalized Gardner Equation with Damping Term

If (??) is invariant under a one parameter Lie group of point transformations,

$$x^* = x + \epsilon \xi(x, y, t; u) + O(\epsilon^2) , \qquad (4)$$

$$y^* = y + \epsilon \eta(x, y, t; u) + O(\epsilon^2) , \qquad (5)$$

$$t^* = t + \epsilon \tau(x, y, t; u) + O(\epsilon^2) , \qquad (6)$$

$$u^* = u + \epsilon \phi(x, y, t; u) + O(\epsilon^2), (7)$$

with the infinitesimal generator ξ , η , τ and ϕ . Then, the third prolongation $pr^{(3)}V$ of the corresponding vector field,

$$V = \xi(x, y, t; u)\partial_x + \eta(x, y, t; u)\partial_y + \tau(x, y, t; u)\partial_t + \phi(x, y, t; u)\partial_u,$$
(8)

satisfies

$$pr^{(3)}V\Omega(x, y, t; u)|_{\Omega}(x, y, t; u) = 0.$$
(9)

In order, to determine the four infinitesimal ξ, η, τ and ϕ . Then, the third order prolongation V is given by the formula,

$$V^{(3)} = v + \phi^{x} \frac{\partial}{\partial u_{x}} + \phi^{y} \frac{\partial}{\partial u_{y}} + \phi^{t} \frac{\partial}{\partial u_{t}} + \phi^{xx} \frac{\partial}{\partial u_{xx}} + \phi^{xy} \frac{\partial}{\partial u_{xy}} + \phi^{xt} \frac{\partial}{\partial u_{xt}} + \phi^{yy} \frac{\partial}{\partial u_{yy}} + \phi^{yt} \frac{\partial}{\partial u_{yt}} + \phi^{tt} \frac{\partial}{\partial u_{tt}} + \phi^{xxx} \frac{\partial}{\partial u_{xxx}} + \phi^{xxy} \frac{\partial}{\partial u_{xxy}} + \phi^{xxt} \frac{\partial}{\partial u_{xxy}}.$$

$$(10)$$

In the above expression, every co-efficient of the prolonged generator is a function of x, y, t and u can be determined by the formulae,

$$\phi^{i} = D_{i}(\phi - \xi u_{x} - \eta u_{y} - \tau u_{t}) + \xi u_{x,i} + \eta u_{y,i} + \tau u_{t,i}, \qquad (11)$$

$$\phi^{ij} = D_i D_j (\phi - \xi u_x - \eta u_y - \tau u_t) + \xi u_{x,ij} + \eta u_{y,ij} + \tau u_{t,ij}, \qquad (12)$$

$$\phi^{ijk} = D_i D_j D_k (\phi - \xi u_x - \eta u_y - \tau u_t) + \xi u_{x,ijk} + \eta u_{y,ijk} + \tau u_{t,ijk},$$
(13)

http://xisdxjxsu.asia

VOLUME 17 ISSUE 11

497-505

where D_i represents total derivative and subscripts of u derivative with respect to the respective coordinates. To proceed with reductions of (??), we now use symmetry criterion for the partial differential equation. For the given equation, this criterion is expressed by the formula,

$$V^{(3)}\left(u_t + u_x + u_y + uu_x + uu_y - u_{xxt} - u_{yyt}\right) = 0,$$

whenever,

$$\phi^{t} + \phi^{x} + \phi^{y} + \phi\phi^{x} + \phi\phi^{y} - \phi^{xxt} - \phi^{yyt} = 0.$$
(14)

Using (?? - ??), we introduced the following quantities,

$$\begin{split} \phi^x &= D_x \left(\phi - \xi u_x - \eta u_y - \tau u_t \right) + \xi u_{xx} + \eta u_{yx} + \tau u_{tx} \\ &= \phi_x + (\phi_u - \xi_x) u_x - \eta_x u_y - \tau_x u_t - \xi_u u_x^2 - \eta_u u_x u_y - \tau_u u_x u_t, \\ \phi^{xx} &= D_x D_x \left(\phi - \xi u_x - \eta u_y - \tau u_t \right) + \xi u_{xxx} + \eta u_{yxx} + \tau u_{txx} \\ &= \phi_x x + (2\phi_{xu} - \xi_{xx}) u_x - \eta_{xx} u_y - \tau_{xx} u_t + (\phi_u - 2\xi_x) u_{xx} - 2\eta_x u_{xy} \\ &- 2\tau_x u_{xt} + (\phi_{uu} - 2\xi_{ux}) u_x^2 - 2\eta_{ux} u_x u_y - 2\tau_{xu} u_x u_t - \xi_{uu} u_x^3 - 3\xi_u u_x u_{xx} \\ &- \eta_{uu} u_x^2 u_y - \tau_{uu} u_x^2 u_t - 2\eta_u u_x u_{xy} - \eta_u u_{xx} u_y - \tau_u u_x u_t + 2\tau_u u_x u_t, \\ \phi^{yy} &= D_y D_y \left(\phi - \xi u_x - \eta u_y - \tau u_t \right) + \xi u_{xyy} + \eta u_{yyy} + \tau u_{tyy} \\ &= \phi_{yy} - \xi_{yy} u_x + (2\phi_{yu} - \eta_{yy}) u_y - \tau_{yy} u_t - 2\xi_y u_{xy} + (\phi_u - 2\eta_y) u_{yy} \\ &- 2\xi_{yu} u_x u_y - 2\tau_{yu} u_y u_t + (\phi_{uu} - 2\eta_{yu}) u_y^2 - 2\tau_y u_{yt} - 2\xi_u u_y u_{xy} - 3\eta_u u_y u_{yy} \\ &- \xi_{uu} u_y^2 u_x - \xi_u u_{yy} u_x - \eta_{uu} u_y^3 - 2\tau_u u_y u_{yt} - \tau_u u_y u_t - \tau_u u_y^2 u_t, \\ \phi^t &= D_t \left(\phi - \xi u_x - \eta u_y - \tau u_t \right) + \xi u_{x,t} + \eta u_{y,t} + \tau u_{t,t} \\ &= \phi_u + u_t \left(\phi_u - \tau_t \right) - \tau_u u_t^2 - \xi_u u_t u_x - \xi_t u_x - \eta_u u_y - \eta_u u_y. \end{split}$$

Substituting all the above formulae in (??) and then compare the co-efficients of various monomials in derivatives of "u". This yields the determining equation. They are as follows:

$$\begin{aligned} & (\xi_1)_u &= 0, \\ & (\xi_2)_u &= 0, \\ & (\xi_3)_u &= 0, \\ & (\xi_3)_u &= 0, \\ & (\phi_1)_{u,u} &= 0, \\ & (\phi_1)_{u,u} &= 0, \\ & (\xi_1)_y &= 0, \\ & (\xi_1)_y &= 0, \\ & (\xi_2)_x &= 0, \\ & (\xi_2)_x &= 0, \\ & (\xi_3)_x &= 0, \\ & (\xi_3)_x &= 0, \\ & (\xi_3)_x &= 0, \end{aligned}$$

http://xisdxjxsu.asia

VOLUME 17 ISSUE 11

497 - 505

$$\phi_{1} + 3u (\xi_{1})_{x} + (\phi_{1})_{t} - u (\phi_{1})_{u} + (\phi_{1})_{x} + u (\phi_{1})_{x} x + u^{2} (\phi_{1})_{x} + (\phi_{1})_{y,y} + (\phi_{1})_{x,x,x} = 0, - (\xi_{1})_{x,x} + (\phi_{1})_{x,u} = 0, 3 (\xi_{1})_{x} - 2 (\xi_{2})_{y} = 0, 3 (\xi_{1})_{x} - (\xi_{3})_{t} = 0, - (\xi_{2})_{t} - (\xi_{2})_{y,y} + 2 (\phi_{1})_{y,u} = 0.$$
(15)

After solving the above determining equations, we obtained the following infinitesimals. **Infinitesimals:**

$$\xi = k_3, \tag{16}$$

$$\eta = k_2, \tag{17}$$

$$\tau = k_1, \tag{18}$$

$$\phi = 0. \tag{19}$$

Now, we construct the symmetry generators corresponding to each of the constants involved. Totally there are four generators given by

$$V_{1} = \frac{\partial}{\partial t},$$

$$V_{2} = \frac{\partial}{\partial y},$$

$$V_{3} = \frac{\partial}{\partial x}.$$
(20)

Thus, we can construct a one-parameter group of invariants $g_i(\epsilon)$, generated by the vector V_i , where i = 1, 2 and 3 are given as follows,

$$g_1(\epsilon) : (x, y, t; u) \rightarrow (x, y, t + \epsilon, u) ,$$

$$g_2(\epsilon) : (x, y, t; u) \rightarrow (x, y + \epsilon, t, u) ,$$

$$g_3(\epsilon) : (x, y, t; u) \rightarrow (x + \epsilon, y, t, u) .$$

Hence, g_1 is the time translations. Also, g_2 and g_3 are the space-invariant of the equation. Next, we construct the commutator table with the symmetric generators. It is shown below:

Commutator Table					
$[V_i, V_j]$	V_1	V_2	V_3		
V_1	0	0	0		
V_2	0	0	0		
V_3	0	0	0		

In the above table are shown the commutator relations of the Lie algebra L, determined by the vectors V_1 , V_2 and V_3 . For the commutator table of three-dimensional Lie Algebra V_i is a $(3 \otimes 3)$ table whose $(i, j)^{th}$ entry expresses the Lie Bracket $[V_i, V_j]$ given by the above Lie Algebra L. Therefore, the commutator table is skew-symmetric and the diagonal elements all vanish. Also, the related structure constants can be calculated from the above table are as follows and the Lie algebra L is solvable. Thus, the radical of G is $R = \langle V_1, V_2, V_3 \rangle$.

Symmetry Reductions of (2+1)-dim Generalized Gardner Equation by one-dimensional Subalgebras

In this section, we derive the reductions of (??) to a partial differential equation with two independent variables and ordinary differential equations. These are three one-dimensional Lie subalgebras are given below:

$$L_{s,1} = \{V_1\}$$
, $L_{s,2} = \{V_2\}$ and $L_{s,3} = \{V_3\}$

and corresponding to each one-dimensional subalgebras we may reduce (??) to a partial differential equation with two independent variables.

Case 1:

The Subalgebra $L_{s,1} = V_1 = \partial_t$.

The characteristic equation associated with this generator is

$$\frac{dx}{0} = \frac{dy}{0} = \frac{dt}{1} = \frac{du}{0}$$

Thus, we integrate the characteristic equation to get their corresponding similarity variables,

$$x = a; y = b; u = w(a, b).$$
 (21)

Using these similarity variables in (??) can be transformed in the form

$$(2\delta w - 3\sigma w^2)w_a + w_{aaa} + w_{bb} + w = 0.$$
(22)

Case 2:

The Subalgebra $L_{s,2} = V_2 = \partial_y$.

The characteristic equation associated with this generator is

$$\frac{dx}{0} = \frac{dy}{1} = \frac{dt}{0} = \frac{du}{0}$$

Thus, we integrate the above characteristic equation to find the similarity variables, which shown below:

$$x = a; t = b; u = w(a, b).$$
 (23)

Using these similarity variables in (??) can be transformed in the form

$$(2\delta w - 3\sigma w^2)w_a + w_{aaa} + w_b + w = 0.$$
(24)

Case 3:

The Subalgebra $L_{s,3} = V_3 = \partial_x$.

The characteristic equation associated with V_3 is

$$\frac{dx}{1} = \frac{dy}{0} = \frac{dt}{0} = \frac{du}{0}$$

Hence, we can integrate the characteristic equation to obtain the similarity variables,

$$y = a; t = b; u = w(a, b).$$
 (25)

Using these similarity variables in (??) can be transformed in the form

$$w_{aa} + w_b + w = 0. (26)$$

http://xisdxjxsu.asia

VOLUME 17 ISSUE 11

497-505

Table 1					
S.No.	VectorField	Similarity Variables	Similarity Reductions		
1	$V_1 = \partial_t$	x = a; y = b; u = w(a, b)	$(2\delta w - 3\sigma w^2)w_a + w_{aaa} + w_{bb} + w = 0$		
2	$V_2 = t\partial_y$	x = a; t = b; u = w(a, b)	$(2\delta w - 3\sigma w^2)w_a + w_{aaa} + w_b + w = 0$		
3	$V_3 = -\partial_x$	y = a; t = b; u = w(a, b)	$w_{aa} + w_b + w = 0$		

Symmetry Reductions of (2+1)-dim Gardner Equation by two-dimensional Abelian Subalgebras

Further reductions to ordinary differential equations are associated with two-dimensional subalgebras. It is evident from the commutator table that there are three two-dimensional solvable abelian subalgebras namely,

$$L_{A,1} = \{V_1, V_2\}, L_{A,2} = \{V_1, V_3\}, and L_{A,3} = \{V_2, V_3\}.$$

There is no Non-abelian subalgebra in the commutator table.

Case : 1

The Subalgebra $L_{A,1} = \{V_1, V_2\}.$

In this case, we find that the given generators commute $[V_1, V_2] = 0$. Thus, either of V_1 or V_2 can be used to start the reduction procedure. For our purpose, we begin the reduction with V_1 . In this case, (??) is reduced to the partial differential equation (??). Now, we express V_1 in terms of the similarity variables defined in (??) as,

$$V_2^* = \partial_b. \tag{27}$$

The associated characteristic equation is

$$\frac{da}{0} = \frac{db}{1} = \frac{dw}{0}.$$

Integrating the above equation as before yields to the new variables $a = \zeta$, $F(\zeta) = w$. As a result (??) reduces to,

$$F_{\zeta\zeta\zeta} + (2\delta F - 3\sigma F^2)F_{\zeta} = 0.$$
⁽²⁸⁾

Case : 2

The Subalgebra $L_{A,2} = \{V_1, V_3\}.$

In this case, we find that the given generators commute $[V_1, V_3] = 0$. Thus, either of V_1 or V_3 can be used to start the reduction procedure. For our convenience, we begin the reduction with V_1 . In this case, (??) is reduced to the partial differential equation (??). Now, we express V_1 in terms of the similarity variables defined in (??) as

$$V_3^* = \partial_a. \tag{29}$$

The associated characteristic equation is,

$$\frac{da}{1} = \frac{db}{0} = \frac{dw}{0}.$$

http://xisdxjxsu.asia

(31)

Integrating the above equation as before yields to the new variables $b = \zeta$, $F(\zeta) = w$. As a result (??) reduces to

$$F + F_{\zeta\zeta} = 0. \tag{30}$$

Case : 3

The Subalgebra $L_{A,3} = \{V_2, V_3\}.$

In this case, we find that the given generators commute $[V_2, V_3] = 0$. Thus, either of V_2 or V_3 can be used to start the reduction procedure. For our purpose, we begin the reduction with V_2 . In this case, (??) is reduced to the partial differential equation (??). Now, we express V_3 in terms of the similarity variables defined in (??) as

$$V_3^* = \partial_a.$$

The associated characteristic equation is

$$\frac{da}{1} = \frac{db}{0} = \frac{dw}{0}.$$

Integrating the above equation as before yields to the new variables $\zeta = b$, $F(\zeta) = w$. As a result (??) reduces to,

$$F + F_{\zeta} = 0. \tag{32}$$

Table 2					
S.No.	LieBracket	Similarity Variables	Similarity Reductions		
1	$[V_1, V_2] = 0$	$a = \zeta; w = F(\zeta)$	$F_{\zeta\zeta\zeta} + (2\delta F - 3\sigma F^2)F_{\zeta} = 0$		
2	$[V_1, V_3] = 0$	$b = \zeta; w = F(\zeta)$	$F_{\zeta\zeta} + F = 0$		
3	$[V_2, V_3] = 0$	$b = \zeta; w = F(\zeta)$	$F + F_{\zeta} = 0$		

Conclusion

We determined (2+1)-dimensional Generalized Gardner equation with damping term is subjected to Lie Classical Method. The Gardner equation (??) admits a three-dimensional symmetry group. We established that the symmetry generators form a closed Lie algebra and the classifications of symmetry algebras of (??) into one- and two-dimensional abelian subalgebras are carried out. Finally, from the Table 1 and 2, we obtained, the classification of systematic reductions to (1+1)-dimensional partial differential equation and then to first or second order ordinary differential equations are performed through one-dimensional and two-dimensional solvable abelian subalgebras.

Acknowledgements:

This research work was supported by the University Grants Commission - Special Assistance Programme (UGC-SAP), New Delhi, India, through the letter No.F.510/7/DRS - 1/2016 (SAP - 1), dated Sept.14, 2016.

Conflict of Interests:

The authors have declared that no Conflict of Interest exists.

http://xisdxjxsu.asia

References

- M. Antonova and A. Biswas; Adiabatic parameter dynamics of perturbed solitary waves, Communications in Nonlinear Science and Numerical Simulation. Vol. 14 (3), 734748, (2009).
- [2] A. Biswas, E. Zerrad, Soliton perturbation theory for the Gardner equation, Advanced Studies in Theoretical Physics, Vol. 2 (16), 787794, (2008).
- [3] G. W. Bluman and J. D.Cole, *The general similarity solution of the heat equation*, Journal of Applied Mathematics and Mechanics, Vol. 18, 1025 1042, (1969).
- [4] L. Girgis, E. Zerrad, A. Biswas, Solitary wave solutions of the Peregrine equation, Int. J. Oceans Oceanogr. 4 (1), 4554 (2010).
- [5] L. Girgis, A. Biswas, Soliton perturbation theory for non-linear wave equations, Applied Mathematics and Computation, Vol. 216 (7), 22262231 (2010).
- [6] J. H. He; Variational principles for some non-linear partial differential equations with variable coefficients, Chaos Solitons and Fractals, Vol. 99 (4), 847851 (2004).
- [7] J. H. He; Some asymptotic methods for strongly non-linear equations, International Journal of Modern Physics, Vol. B 20 (10), 11411199 (2006).
- [8] A. G. Johnpillai, A. H. Kara, A. Biswas, Symmetry reduction, exact group-invariant solutions and conservation laws of the Benjamin-Bona-Mahoney equation, Applied Mathematics Letters Vol. 26, 376381, (2013).
- [9] E. V. Krishnan, Y. Peng, Exact solutions to the combined KdV-mKdV equation by the extended mapping method, Physica Scripta, Vol. 73, 405409, (2006).
- [10] E. V. Krishnan H. Triki, M. Labidi, A. Biswas, A study of shallow water waves with Gardner's equation, Non-linear Dynamics. Vol. 66, 497507, (2011).
- [11] Y. Peng, New exact solutions to the combined KdV-mKdV equation, International Journal of Theoretical Physics, Vol. 42, 863–868, (2003).
- [12] Y. Peng, New exact solutions to a new Hamiltonian amplitude equation II, Journal of the Physical Society of Japan, Vol. 73, 1156–1158, (2004).
- [13] M. Wadati; Wave propagation in nonlinear lattice I, Journal of the Physical Society of Japan, Vol. 38, 673–680, (1975).
- [14] M. Wadati; Wave propagation in nonlinear lattice II, Journal of the Physical Society of Japan, Vol. 38, 681686, (1975).
- [15] G. F. Yu, H. W. Tam, On the (2+1)-dimensional Gardner equation: Determinant solutions and pfaffianization, Journal of Mathematical Analysis and Applications, Vol. 330 (2), 989–1001, (2007).

http://xisdxjxsu.asia

REFERENCES VOLUME 17 ISSUE 11

- [16] A. M. Wazwaz, New solitons and kink solutions for the Gardner equation, Communications in Nonlinear Science and Numerical Simulation, Vol. 12 (8), 13951404, (2007).
- [17] E. A. Zabolotskaya and R. V.Kholohlov, On exact solutions of a non-acoustic equation Soviet physics. Acoustics, Vol. 15, 35 - 40, (1969).